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1960 P41 35| 1134590 | 21499 | 18.9| 8547 75| 12952 114
61 36| 1125692 20,682 |  18.4 | 8 869 7.6 11813  10.3
62 37| 1115710 | 19.585 |  17.6 | 8856 7.9 10.729 | 10.2
63 38| 1106564 | 19.190 | 173 | 8372 7.6 10,818 9. §
64 30| 1,099 187 | 18.602 |  16.9 | 8 335 7.6 | 10267 9.3
1965 10| 1.090.692 | 18460 171 8. 749 8.1 9.711 9.0
66 41 1,076,900 | 13,376 124 | 8075 7.5 5301 1.9
67 420 1,072,768 | 19,124 | IT.8| 8,238 77 10.886 |  10.1
68 43 1,066,831 | 17.378 | 162 | 8375 7.8 9,003 8. 4
69 44| 1,062,214 17358 | 16.3 | 8 109 7.6 9 249 8.1
1970 45 1051105 | 17.007 162 | 8 655 8.2 8352 7.9
71 46| 1,047,356 | 17.235 164 8133 - T.8| 9,102 8. 8
79 47| 1049212 | 17,722 | 16.9 | 7.946 7.6 9.776 9.3
73 481 1,054,148 18,322 |  1T.4 | 8 348 7.9 9,974 9.5
74 49 1.065.373 | 18.758 |  17.6 | 8 084 7.6 10674 | 106
1975 50 1,085,055 | 18,142 |  16.7| 8. 270 7.6 9872 9. 1
6 51 1097630 18229 |  16.6 8 305 7.6 992 9.0
71 52| 1 111,396 | 18.005 |  16.2 8 104 7.3 9,901 8.9
78 53 1123537 17490 156 8028 71| 9 462 8. 4
79 54| 1.136.623 | 17731 15.6 | 7,976 7.0 9755 8. 6
1980 55| 1151587 | 16.991 |  14.8 | 8 382 7.3 8609 7.5
81 56| 1159042 16.664 |  14.4 | 8 294 7.2 8370 7.9
8 57| 1166257 16.695 | 143 8 285 7.1 8.410 7.9
83 58| 1169667 | 16.160 |  13.8 8 635 7.4 7,52 6. 4
84 59| 1172793 | 16.058 | 13.7. 8294 7.0 7,834 6.7
1985 60| 1175543 | 15.262 |  13.0| 8 355 71 6907 5.9
86 61| 1175396 14820 |  12.6 | 8 351 71| 6469 5. 5
87 62| 1175953 | 14.049 | 120 8 285 7.1 5764 4.9
88 63 1176188  13.505 |  1L5 8755 71 4750 4.0
89 sk u| 1.175.288 | 12,914 | 110 8572 7.3 4,34 3.1
1990 2| 1168907 | 12,107 |  10.4 | 8.867 76| 3. 240 2. 8
9] 3| 1166821 12118 |  10.4| 8853 7.6 5 365 2. 8
92 40 1,166,953 | 12,032 |  10.3 | 9110 7.8 2922 2. 5
93 5 1.169.053 11,717 | 10.0| 9,25 7.9 2465 2. 1
04 6| 1172481 | 12245  10.5 9,135 78 3110 2.1
1995 70 1175819 | 11,693 | 10.0| 9,846 8.4 1847 N
96 8| 1177470 | 11792 |  10.0| 9,320 7.9 2472 2. 1
97 9| 1.176.394 | 11,501 9.8 | 9,752 8.3 1749 L5
98 10 117553 | 11,335 9.7 | 9,790 8.3 1545 1.3
99 11| 1,175,006 | 10.938 9.3 | 10,141 8.6 797 0.7
2000 12 1,170.007 | 11037 9.4 | 9,906 8.5 1131 10
01 13 1.167.904 11007 9.4 | 10,232 8.8 175 0.7
02 14 1,165,763 | 10,657 9.1 10.181 8.7| 476 0. 4
03 15 1,163,489 | 10,220 8.8 | 10,641 0.1 41| 0.4
04 161 1,160,847 | 10,267 8.8 10,578 9.1, =311, -0.3
2005 17 1153042 | 9,738 8.4 | 11,167 9.7 -1429| -12
06 18 1148220 | 10.094 8.8 | 11138 9.7 1044 | 0.9
07 19 1,142,636 | 10,337 9| 11361 9.9 -1024 | 0.9
08 20| 1,136,288 | 10,292 9.1 11932 10.5| -L640  -14
09 21| 1,132,025 | 10170 9| 11,959 | 10.6| -1.7891 1.6
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11 33, 1 9. 740 113.0 | 10,051 8.9 952 0. 84
684 33. | 9. 880 190.4 | 10. 006 8.9 943 0. 83
634 39. 4 9789 194.7 | 10,024 9.0 1. 050 0. 94
538 98. 0 9, 562 117. 8 9. 559 8. 6 911 0. 82
397 91.3 9 377 113. 3 9598 8.7 975 0. 89
481 96. 1 2121 | 1031 9. 176 8.5 981 0.91
306 92. 9 9 673 134.9 8. 805 8.9 952 0. 88
370 19. 3 9. 668 97. § 9. 333 8.7 1. 054 0. 98
390 18. 4 1. 776 92. 7 8. 941 7 986 0. 9
300 20. 9 1. 759 91. 7 8. 957 .7 978 0. 99
991 17.1 1. 860 98. 6 8. 612 8.9 1. 063 1. 01
966 15. 4 1. 768 93. 0 9. 016 8. 6 1. 090 0. 99
991 19. 6 1. 586 89. 1 9. 075 9. 6 1. 194 113
250 13. 6 1. 471 74. 3 9. 379 8. 9 1. 908 1. 14
206 10. 9 1. 477 73.0 8. 971 8. 4 1. 930 115
205 11. 3 1. 397 68. 9 8. 565 7.9 1. 316 1. 29
209 11 1 1. 288 65. 9 8. 189 1.5 1229 | - 119
914 11.9 1. 396 79.0 7. 845 71 . 493 1. 98
165 9. 4 1,923 65. 3 7731 6.9 1, 447 1. 99
158 8. 9 1. 939 65. 3 7,940 6.9 1,530 1. 34
145 8.5 1. 074 59. 5 7.793 6. 8 1. 634 1. 42
134 8.0 1172 65. 7 7. 965 6.9 1. 776 1. 53
149 8.5 1,171 65. 5 7697 6. 6 1. 997 171
118 7.3 1. 201 69. 9 7.399 6. 3 2. 968 1. 94
114 7.1 1. 189 68. 9 7059 6.0 9. 969 1. 93
81 5. 3 965 59. 5 6. 940 5.9 1. 981 1. 69
9 6. 9 963 61. 0 6. 579 5. 6 1. 915 1. 63
08 7.0 845 56. 7 6. 325 5. 4 1. 805 .54
59 A4 959 66. 3 6. 379 5. 4 1. 634 1. 39
69 5. 3 793 57. 9 6. 193 5. 3 1. 787 .59
65 5. 4 751 58. 4 6. 134 5.9 1. 615 . 38
65 5. 4 748 58. 1 6. 193 5.3 . 788 1.53
11 5.9 T44 58. 9 6. 304 5. 4 1. 869 1. 60
58 5.0 672 54. 9 6. 390 5. 5 1. 939 1. 66
69 5.6 635 49.3 6. 479 5. 5 1. 976 1. 69
49 49 589 A7 4 6. 566 5. 6 1. 940 . 65
46 3.9 593 47,9 6. 679 5.7 2. 152 1. 83
62 5. 4 568 A7, 1 6. 177 5. 3 9.979 1. 94
44 3.9 561 479 6. 315 5. 4 9. 459 9. 09
43 3.9 493 43. 1 6. 259 5. 3 9493 9.19
41 3.7 536 16. 3 6.513 5. 6 9713 9.39
45 41 534 46. 3 6. 560 5. 6 9. 866 9. 45
33 3. 1 534 AT T 6. 214 5. 3 9. 948 9.53
29 2.8 499 46. 6 6. 035 . 5.9 9. 961 9. 54
94 9.3 466 43. 4 6. 021 5. 9 9. 784 9.4
32 3.3 191 A1.4 6. 022 5.9 9. 658 2. 31
24 9.4 147 49. 4 6. 211 5. 4 9. 675 9.33
24 9.3 380 35. 5 6. 250 5. 5 2601 9.98
33 3.9 326 30. 7 6. 239 5.5 2. 619 2.3
94 9.4 351 33, 4 5. 993 5. 9 9. 485 9.9




2-%—2 WHEH (A% - HEIRED

“ ¥ 1 A 2 H 3 A 4 A

&t 5 58 5 &7 B & |8 | &£ B | &

“ 2 | 10,170 | 5209 | 4 961| 453 418 412 397 | 401| 404 401 385
=ITRMEAT | 3,565 | 1,794 | 1,771 155 127] 149 133 120 168 | 152 138
= W 3565 | 1,794 1,771 155 197 149 133 129 168 152 138
MR | 1,864 947 917| 84| 95| 57| 63| 81| 62| 79| T
®w o w1610 824 786 76| 77| 53| 56| 69| 52 68 57
= B R 954 123 131 8 18! 4 7 12| 10 11| 14
EEARRA | 1121 597 524 | 49| 53 51| 46| 41| 32 46| 37
#E | 1191 597 524 | 49| 53| 51| 46| 41| 33| 46, 37
CERX K 564 293 271 24| 19| 20| 21| 22| 27| 23 20
H & 423 216 207 16| 16| 14| 17 18| 24| 18 15
BB T 141 1 64/ 8 3 6| 4, 4 3 5 5
IR R 607 319 288 25| 18| 22| 30| 30| 29 22| 24
AN R T 331 182 149 120 9| 12 17 20 16 16, 14
0o 154 76 80 100 8| 2 7| 6 71 2| 7
B OE 75 36 39 1, 1] 6 3 2 2 2 2
) 47 25 220 20— 2 31 9l 4 9l 1
Y Xa 944 479 465 45| 43| 46| 33| 39| 38 29| 38
[ 271 136 135 17| 11 14| 11 10 11| 5| 10
& & T 221 113 108 7| 10 13| 4 9 10| 8 13
o 174 99 750 100 6 5/ 7/ 5 6| 6| 6
7K B A 10 5 5 —| - Iy - = =1 - 1
Kbk BT 47 21 %) 6 1 2 1 2 4 1 1
il B W7 146 72 40 40 120 100 7] 11 3| 4] 2
w oo 75 33 490 1. 3| 1] 3 2. 4 5| 5
BT RGRRn 170 91 790 9] 9l 120 7] 1, 6| 4| 71
& A BT 111 64 47 8 6/ 10 6 8| 4 3 3
HZ %W 27 11 60 1] - 1 1| 1| 2| 1 -
R Ll 39 16 6 —1 3 1] =1 2 —| = 4
CIERX X; 832 434 308 42| 34| 35| 40 32| 21| 29| 33
B 599 312 280 32| 25| 25| 28| 25| 20 19| 24
I ) 173 89 84/ 7. 5| 7| 7/ 6/ 6 8 5
%o M 10 4 6] — 20— 1 —| — 1] 1
T W 20 12 8| 1| —| 1 2 1 - 1 -
= % W 37 17 200 2l 2 2 2 —| 1. —| 3
ok R R 503 255 248 20| 20| 20| 24| 16l 15, 17| 17
# @ M 323 170 53| 12 15 11| 171 9 11| 11| 11
E 0 197 61 66 7. 5] 6 5 6 3 4 4
o ] 53 24 290 1. =1 3 2 1l 1 2 2




5 H 6 H 7 H 8 H 9 H 10 A 11 A 12 A
B kB & |58 x| B &k B x B &x|B & B | X
435| 375 410 | 391| 443 | 406 419 | 405 493 | 465 455| 434| 449 422 | 438 459
145| 136 124 139| 150 146 | 143 | 134 172 185 170 146 160 154 | 145 165
145| 136 | 124 | 139| 150 | 146 | 143 | 134 172 | 185 170 146| 160 154 | 145 165

77, 66| 77, 8| 92| 74 69, 8 99| 7v4| 11, 17| 81 77 80 84

63| 57| 69, 68, 8 66| 60| 77| 8| 68| o8| 69 Tl| 68 T3 Tl

14 9 8§ 18] 11 8 91 111 16 61 13 8 10 9 7. 13
58| 35| 48 45| 39| 33| 44| 55 55 39 52| 46, 64 54 50 49

58| 35| 48| 45| 39| 33| 44| 55| 55| 39| 52| 46| 64| 54| 50} 49

25| 24| 22| 14 29| 33 26| 17| 27 24 31| 24| 21 23| 23| 25

190 15 14 11 21 257 19| 14, 19 16| 28, 17, 15 18| 15| 19

6 9 8 3 8 8 7 3 8 8 3 1 6 3] 8 6

17, 200 23| 19, 30| 22| 26| 22 32| 32| 31| 35, 29| 1r| 32| 20

8§ 11| 12| 10 18] 13| 13 9 18 15, 19 18| [I7 8| 17| 12

6 3 5 7 9 6 9 ) 71 10 b 10 ] 41 10 4

1 5 3 2 2 1 3 6 4 4 2 7 b 2 4 4

2 | 3 = 1 2 1 2 3 3 9 3 1 3| 11 -~
47| 33| 46| 32| 32| 32| 42 35 36 49| 34, 52 35 37| 48] 43

120 11 16| 11 6 70 13 16 8§ 12 11| 14| 12 8§ 13| 13

12 6 7 o 7 8§ 10 6 10 17 8§ 13 10 6| 12 10

11 4 9 713 2 9 7 6 5 6 6 6] 13| 13 6

1 | — 1) - 1 1| - =1 - 1 1y, = = -

1 2 1 2 1 3 1 1| = 2 2 3l — 1 4 0

7 6 9 1 2 7 6 4 o 10 5 12 3 o 6 o)

3 3 0 9 3 4 2 1 6 3 2 3 3 41 — 4

6| 7 6 4 8 3 8 6 6| 12 4 2 8 9 9 7

4 4 3 1 5 1 ] 3 0 8 2 - 4 7 7 4

1 2 1 1y - 1 ] 3 — 1 = 2 3 2 1 1

1 1 2 2 3 1 2 — ] 3 2] — 1] — 1 2
40 31 32 27 42) 40 35, 31| 46 28| 40| 35 34, 28| 27| 44

33| 23| 22| 19| 30| 29| 19y 21| 32 18 -28| 23| 25| 191 22| 3l

4 o 7 6| 10 8§ 12 8§ 10 8 8§ 10 6 b 41 10

Iy =] =1 = 1y = = = = 1 = 1 1y = =] -

1 = 1 1 - 2 2 - 20 - 1 = = 1 1 2

1 3 2 1 1 1 2 2 2 1 3 1 2 2| — 1

20 23| 32 25| 21| 23 26| 17 20| 22, 22, 17| 17} 23, 24| 22

15 100 23, 16, 19 15| 17| 12| 14| 12| 13 8§ 11| 14| 15 12

3| 12 7 o 1 0 7 3 5 6 6 I 3 7 b 4

2 1 2 4 1 3 2 2 | 4 3 2 3 2 3 6




2—%—3 HAEN (BOERKE - HETHR)

w gy | LORE | 15> | 20~ | 25~ | 30~ | 35~ | 40~ | 45RR | - g
I | 19% | 24m% | 20%% | 34m% | 39%% | 44n% | LAE [T
2 # | 10,170 —| 153 1,517| 3,478 3,289 | 1,483 | 244 6 —
2R iR AT 3, 565 - 47| 431 1,152 1,239 591 100 5 —
(= ] 3, 965 — 47 4311 1,152 1,239| 591 100 b) —
# i5% R # Fh 1, 864 - 28| 299 702, 554 244 37 - —
#w w0 1,610 — 22| 207 618 478 202 33 — —
= & H 254 - b 42 84 76 42 4 — —
FE [E R f2 FR 1,121 — 200 191 3801 347| 156 26 1 -
EB T 1, 121 - 20 191 380, 347| 156 26 1 —
B &k 62 Fh 564 - ) 106| 206 164 71 11 — -
H mM ™ 423 5 73] 146 132 58 9 — -
O T 141 1 33 60 32 13 2 - —
A R 607 - 71 105, 222 192 66 15 — -
INFE T 331 - 3 02| 122 117 31 6 — —
Z XD 104 - 1 26 50 49 22 6 —
moo R 75 — 1 15 34 18 6 1 —
B KN 47 — 2 12 16 8 1 2 —
= 8 Ik 62 Fh 944 — 20 164| 320 289 13 20 - —
[T ] 271 - o 36| 104 79 38 9 — -
[ ) 221 - 4 42 63 77 34 1 — -
o W 174 - 6 33 03 ol 29 2 — —
(i = ) 10 - - — 3 2 4 1 — -
Ay B 47 - 2 4 21 17 3 - — —
i m H 146 — 1 27 4 42 18 4 — —
w B 15 - 2 22 22 21 0 3 — —
= TREEER 170 - 2 25 66 54 21 2 - —
& T R T 111 - 2 19 39 38 12 1 — —
H < & H 27 - - 3 17 0 2 — — —
Hor WM 32 - — 3 10 11 1 1 — —
B [ & 6 F 832 - 14, 123, 279 274 128 14 - -
H m 592 - 9 91 209 187 86 10 — —
i H] 173 - 4 26 48 60 32 3 — —
1 I S O 10 — — - 4 5 1 — — -
o OE N 20 — - — 8 7 5 - - -
x 48 HT 37 - | b 10 15 4 1 — -
R ORR fEAT 503 - 9 73 151, 176 75 19 — -
H KA 323 - 6 50 93| 111 49 14 — —
g o 127 - 3 18 44 46 12 4 — -
73 By 03 — — 0 14 19 14 1 — -




2-%—4 HEH (HERAC - TETHRE)

wo £1R £2 8 £ 38 B4R FERLE

% # 10,170 4, 498 3, 649 1, 564 344 115
=BT RER 3, 565 1,728 1, 259 466 83 29
Ol T 3, 565 1, 728 1, 259 466 83 29
£ 5% R & PR 1, 864 763 693 312 73 23
#OW ™ 1,610 669 601 262 58 20
= & HJ 254 94 92 50 15 3
EMERER 1,121 465 407 191 43 15
M T 1, 121 465 407 191 43 15
BEEBEAA 564 250 204 91 15 4
H ®B ™ 423 174 164 70 13 2
=i ] 141 76 40 21 2 2
INKREFR 607 251 220 97 32 7
AR T 331 135 135 45 11 5
ZUOmM 154 62 44 34 13 |
=R ] ) 33 29 9 3 1
5 HH 47 21 12 9 ) —
= BERER 944 398 342 161 29 14
& T 271 112 96 47 I1 5
w8 HT 221 105 14 38 2 2
;o8 W 174 73 70 26 3 2
7k B 10 3 4 2 1 —
K B HT 47 16 18 8 4 1
JII F HT 146 61 50 26 6 3
OB 75 28 30 14 2 |
= TEARER 170 58 60 37 13 2
& T fE T 111 40 38 24 7 2
HzZz sz il 27 9 7 8 3 —
H o~ 3E H] 32 9 15 5 3 —
Bm&ER 832 348 299 130 38 17
H m m 592 256 212 96 19 9
fMoJIl HT 173 06 64 24 14 5
woE M 10 4 3 3 — —
Me ZE A 20 4 9 3 2 2
£ M HT 37 18 11 4 3 |
ol R PR 503 237 165 79 18 4
w OB T 323 160 97 56 9 1
= Wy 127 52 49 17 7 2
% iy 93 29 19 ] 2 1




2—-%—5 HYEROEE (EREH - HETHR) (B)
o #

2 0.0keseif | ZUAE | MWl | ORL  sskell k| CUEAS
iz ] 5,209 130 371 1, 768 2, 249 690 5
= RERT 1, 794 43 | 137 587 774 252 2
=W T 1, 794 43 137 587 174 252 2
ik R 2P 947 26 70 349 382 120 -
#w oW T 824 24 57 309 330 104 -
= B H 123 2 13 40 52 16 —
EEEEFRR 597 15 36 185 278 83 1
E M T 597 15 36 185 278 83 1
B &®EPr 293 8 15 84 142 44 -
H B m 216 6 11 60 107 32 -
g Mt 77 2 4 24 35 12 -
WHREFR 319 6 25 108 146 34 1
N > S ] 182 4 18 63 7 20 1
ZOOTH 76 2 3 24 37 10 —
& N 36 — 2 13 18 3 —
B R M 25 - 2 8 14 l -
SiRRERER 479 17 29 164 208 61 -
B O#E TR 136 2 12 59 52 11 —
(=) 113 4 6 40 50 13 —
g8 H 99 6 4 28 45 16 —
(sl = ) 5 — — — 5 — —
A b H 21 — 1 7 9 4 -
JII m HT 72 2 3 22 32 13 —
W B H 33 3 3 8 15 4 —
=ST#EXRER 91 — 6 37 35 13 —
B T & AT 64 — 4 23 28 9 —
H =z & T 11 — 1 31! 5 2 —
H o4 #EMT 16 — 1 11 2 2 —
H M & EFRr 434 9 30 161 182 52 1
H m T 312 7 22 111 136 36 —
PeoJI HT 89 2 T 39 33 8 1
S S L} 4 — — 1 1 2 —
ME ZE M 12 - — 4 6 2 —
E ) 17 — 1 6 ) 4 —
o R P 255 6 23 93 102 31 -
B OB OH 170 6 19 58 68 19 —
s H 61 — 2 28 23 8 —
7 ] 24 — 2 7 11 4 —
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2—-%-5 HEROHE (EHREH - HEIRED (B)

32 @ ULk 36 @ R

3t ookesty| Zhedk | ihedl | OB shkeblk| YT R M
155 56 71 26 2 — 4 =
56 15 28 12 1 - 2 —
56 15 28 12 1 — 2 —
35 15 14 5 1 — — —
29 13 12 3 1 — — —

6 2 2 2 — — — —
12 6 5 1 - - — —
12 ) h 1 — — — —
3 5 3 - = = - =
7 ; ) - - - - -
| - | - - - E =
13 3 9 1 - - - -
13 3 9 1 — — — —
10 4 3 3 — — - -
3 - 2 1. — — — -
2 2 — — — — — -
4 2 1 1 — — — —
| - - I - - - -
2 - 1 1 — - - =
] - 1 1 - - : -
12 6 5 1 — — — —
8 4 1 - - - — —
4 2 1 1 — — — —
7 2 3 2 - - — -
5 2 3 — — — — —
) - - ) - - - -




36 @ LI OE 40 B R 7

- B o.0keki | Soon | SNl | SORE 3okl b | CUEAS
m B | 3236 21 2731 1,368 | 1,287 287 2
ERETRER | 1,123 g 103 462 447 103 _
= W | 1193 3 103 462 447 103 _
0 1% 2 2 605 5 51 273 224 52 _
® W T 599 5 42 244 189 19 _
= B E 76 - g 29 35 3 _
i [ IR R 374 2 27 146 162 37 ]
E B 374 ) 27 146 162 37 I
HEFREPMR 156 — 1 57 76 12 —
H m T 116 _ g 13 56 g _
B OB om 40 - 2 14 20 4 —
N IR R R 174 . 15 79 66 14 ]
N R T 99 — 9 43 31 11 1
0o 39 - 3 16 8 2 _
=R 29 - 9 10 10 - _
% RN 14 - 1 5 7 1 _
= 38R R 300 3 22 129 nr 29 _
B OE M 9] ’ g 49 30 1 _
O T 60 1 4 28 23 4 _
o om M 61 - 3 21 29 g _
7K B K 5 . - - 5 - —
N 19 1 7 ) 2 _
N 53 1 3 18 29 g -
m Om o 18 1 3 6 6 2 _
=T HR R 56 - 4 30 18 4 -
=T R N7 38 - 2 8 15 3 _
A2 & 6 . 1 2 3 - _
i Ll 12 - 1 10 - 1 _
H A iR 62 % 265 1 21 115 103 25 _
H 186 1 14 7 75 19 _
T 58 _ 6 29 21 2 _
T 3 - - 1 - 2 _
He A 7 - - 4 3 - _
X BT 1 _ 1 4 4 ) _
R R R 183 2 19 77 74 T -
RN 129 | 2 15 50 50 5 _
5 W 44 - ) 29 16 4 _
o By 17 - 2 5 g 2 _




2-%-5 HEROKE (GHEEY - mETRAR) (5)

0 | o E
OB | B |ookeki SheSd | My SOl lsskelibl EEE R B
— 1 1,763 — 26 374 960 403 1 —
- 594 - 6 113 326 149 - -
- 504 — 6 113 396 149 - ~
- 300 - 4 71 157 68 — -
- 259 - 2 62 140 55 - -
- 11 . 2 9 17 13 - -
— 204 - 4 38 116 46 — —
~ 204 _ i 38 116 46 - -
= 126 — : 27 66 3 - -
- 99 - - 7 51 24 - -
— 34 2 | 10 15 g . -
. 129 - ] 28 80 20 - -
— 69 - - 14 46 g - —
_ 35 . g 19 3 - -
- 14 - . 3 8 3 - -
- 11 - 1 3 7 - - -
- 159 - 4 32 91 32 - -
- 40 - 2 g 29 7 - -
- 50 . 2 12 27 g - -
_ 30 - . 6 6 3 - -
. g - - - 7 2 . .
_ 17 - - 3 10 4 - -
_ 13 - - 9 g 2 - -
- 33 . 1 6 17 9 — -
_ 24 - 1 4 3 6 - _
. 5 - - 1 2 2 - -
— 4 - - 1 2 1 — —
- 155 . 4 45 79 27 ] -
- 116 - H 34 61 17 - ~
- 27 - - g 12 6 1 -
_ 5 - - . 3 2 - -
- 6 - - 2 ) 2 - -
— 63 - ] 14 28 20 — —
_ A1 - 1 8 8 14 - —
- 15 - - 4 7 4 . .
- 7 _ - 2 3 ) _ _
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2-R—6 HERDEKE

(EiRBE - HETHED (&)

i #®

5t lookesem | SOeHE | Rl | MRl 3skebll | ClEaS

#a # 4, 961 124 450 2, 010 1, 960 415 8
=G T REFR 1, 771 61 165 685 714 144 3
=OE Tf 1, 771 61 165 685 714 144 3
& I R @ Fr 917 28 100 378 341 70 2
] ok 786 25 87 321 293 60 2
= B My 131 3 13 57 48 10 —
I B R & Fr h24 9 40 224 195 56 1
M T 524 9 40 224 195 56 1
BEREH 271 5 27 114 103 22 1
H B m 207 4 18 91 76 18 1
i 64 1 9 23 27 4 —
I R & R 288 5 23 118 "7 25 -
VI N~ ] 149 2 11 67 54 15 —
ZODOTmW 78 2 5 25 40 6 —
& OFEH 39 1 6 16 13 3 —
5 R H 22 — 1 10 10 1 —
SREMEFRR 465 6 50 180 196 33 -
m O Th 135 - 12 54 55 14 —
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